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. 1 1
(1) sinx > — (2) —1l<tanz < —
2 \/3
(3) cos?2z < i (4) 2sin22 < 1+cosz
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(1) sing < —% (2) —V3<tanz < 1
(3) cos?z=> % (4) 2cos?z > 1—sinz
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. 1 1
(1) sinx > — (2) —1l<tanz < —
2 V3
™ 5 T 3 7
& << = & 0L = Xl = —
6 T 67'r _a:<62 47'r<m<67r

2‘1%7‘!’<(B<27\'

(3) cos?zx §i (4)  2sin?z<1+cosz
< —%écosxé% < 2(1fcoszx)§1+cosx
T 2 4 5 2
& Eémégwﬂligwéwégﬂ' & 2cos?zr+cosx—1=>0

< (cosz+1)(2cosz—1)=20

& cosx < -1 Rbi%gcosx
& O§m§%2f&tm:r
Xli%w§w<27r
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(1) sing £ — 1 (2) —V3<tanz < 1
NG
& %ngggﬂ & o§m<§2u§w<m<gw

xm§w<m<%

(3) coszxg% (4) 2cos?x >1—sinz
& coszé—@ Rii?gcosx  2(1-sin®z) >1-sinz
& ogwggxugwgmggﬂ & 2sin?z —sinz—1<0
11
X3 ?”§$<2” &  (2sinz+1)(sinz—1) <0
N 1 .
—5<smx<1

s 0L T s 7
Lz 2 Xi& 5 <z< .

2‘1%7‘1’<.’1}<2ﬂ'
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